
	Why were women and children used in mines?
	[bookmark: _gjdgxs]They were cheaper and fitted in the mines better.

	How many children went to the school in Feltham?
	700 boys aged 7 - 13

	When it is daytime in the UK tell me two countries that will be having night time.
	Australia, New Zealand, Canada, America plus many more

	What does GMT stand for?
	Greenwich Mean Time

	What is 4.3 x 2.6?
	11.18

	What is 7 - 1.354?
	5.646

	Can you name Pablo’s horse?
	Napoleon

	What is Ted’s brother called?
	George

	What should the opening paragraph include in a biography?
	A summary

	What should the second paragraph include?
	Early life



